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(v)

AT ST B W foh 39 TH-99 § Hfgd I8 23 § |
Please check that this question paper contains 23 printed pages.

FUAT = A foh 30 I-9T H 38T B |

Please check that this question paper contains 38 questions.
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o |
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T 4597 :

HE71TEGa 39T 1 S TIae] & 9IgT 3R 377 G&d] & i Bl
() 3T 37-97 4 38 757 & | @4 yv7 sifdard & |

(ii) I8 ¥o7-97 gl @Sl 4 [a9ifq 8 — &, @&, M, 909 & /

(i) @UE & H Y97 &y 1 8 18 % aglaswedid (MCQ) @7 97 G&IT 19 TT 20
SfIFeT Uq G% TERT 1 3% & F97 8 |

(iv) @S W H 97 q&Ir21 @ 25 T 3717 TG-ITIT (VSA) ¥HR & 2 37l & J97 & |
(v) WU TH J97 &I 26 T 31 T TY-FTHIT (SA) TR & 3 371 & J97 8 |
(vi) TS T F 97 &1 32 @ 35 T G-3RI (LA) IR & 5 37H] & o7 8 |

(vii) TUE &F H J97 G&IT 36 T 38 T JHU ST JTERT 4 37H] & Y97 & | 3%
YK 37eTT H 3TaRF [dhcd 2 3] & 97 8 1397 731 8 |

(viii) Y97-99 # GHT faeheq 757 197 791 & | FEIf, @8 @ F 2 Yol H, GUS T & 2 FoI
H, @8 7 &2 Jol 7 a9 @8 & & 3 Y9l H SaR® [aehcq &1 JiaerT 1591 73T

g/

(ix) & STGvIH &1 T IHIadl G975Y | &l avTH & 1 = 22 g, G s=rer

7 Iear T &1 |
(x)  @FePpick & 39T afcdd & |

Wus <h
39 @IS H Fglascdid 397 (MCQ) &, 577 Jcde J97 1 37 %7 & | 20x1=20
1.  THH 9 (A.P.) /18, /50, /98, ... Tl T (V1) TS & :
A) 128 (B) 140
(C) <162 (D) /200

2. Zlﬁ §=2sinA,§=2cosA%,?ﬁ x2+y2WII'IT-[%:

(A) 36 B 9
C) 6 (D) 18

15-30/5/1



[OpH O
e

General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)

(vit)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 : :
Draw neat diagrams wherever required. Take 1 = - wherever required, if not
stated.

Use of calculator is not allowed.

SECTION A

This section comprises Multiple Choice Questions (MCQs) of 1 mark each.  20x1=20

The next (4t1) term of the A.P. \/E, \/%, \/%, ...18:
(A) 128 (B) 140
(C) 162 (D) /200

If % =2sin A, % = 2 cos A, then the value of x2 + y2 is:

(A) 36 B 9
C) 6 (D) 18

15-30/5/1 P.T.O.
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e 4sec0-5=0 %,Fﬁ cot @ 1AM & :

(A) (B)

wlot W
L Ot

(C) (D)

TIfieRtl ™ 3x + 4y =5 AAT 6x + 8y = 7 g1 FAfafga o @ fhm g&r
o1 T @ HEiua 8 @8 2

(A) AW
(B) ufa=ad
(C) Gyt

(D) Th-GEX o el

foama Tfiehtor 5x2 — 6x + 21 =0 % Al < ANTHA AT TOHHA H 3TIE & :
(A) 5:21 B) 2:7
(C) 21:5 (D) 7:2

gfe Mepsl 2, 9, x+6, 2x+3, 5, 10, 5; I A 77, Al xHI T4 3 :
A 9 B) 6
(C) 5 (D) 3

T AT, SH 19 40 T 3ifora fEhe &, W € Agosal T ke Hepral! SiTd]
7 | Teprett 78 feshe <t sifera @@ & 7 1 OIS g1 <Rl TTRiehdT 7 :
1

(A) (B)

8
7
40

U= 3|+

C) (D)

21 cm =31 9191 990 % 39 BE@US, ST % g 9 60° T hIV AN
AT g, o1 YA 7 :

(A)  22cm (B) 43 cm

(C) 64cm (D) 462 cm

15-30/5/1



[OpH O
e

3. If 4 sec 6 -5 =0, then the value of cot 0 is:

(A) (B)

(C) (D)

wlot W
L Ot

4. Which out of the following type of straight lines will be represented by
the system of equations 3x +4y =5 and 6x +8y =7 ?

(A) Parallel

(B) Intersecting

(C)  Coincident

(D)  Perpendicular to each other

5. The ratio of the sum and product of the roots of the quadratic equation
5x? —6x +21=0is:
(A) 5:21 (B)
(C) 21:5 (D)

6. For the data 2, 9, x+ 6, 2x + 3, 5, 10, 5; if the mean is 7, then the

value of x is :

A 9 (B)
C) 5 (D)
7. One ticket is drawn at random from a bag containing tickets numbered

1 to 40. The probability that the selected ticket has a number which is a
multiple of 7 is :

1 1
A = B =
(A) = (B) 3
1 7
C = D L
() 5 (D) 10
8. The perimeter of the sector of a circle of radius 21 cm which subtends an
angle of 60° at the centre of circle, is :
(A)  22cm (B) 43 cm
(C) 64cm (D) 462 cm

15-30/5/1 P.T.O.
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11.

12.

13.

[0 45
[Op ]

12 cm B a1t 99 1 T =@ 107 cm 4 2 | 39 =9 gRI 91 % hg W

Al I B
(A) 120° (B)
(C) 75° (D)

60
150°

I TSI-0-93] TEAT S 281 AT 1249 Tl HFT L T ShA: 5 AT 7 ATHSA <t

2,8
(A) 23 (B)
(C) 138 (D)

276

69

TR 9 3,6,9, 12, ..., 111 % Yei 6l T 3

(A) 36 (B)
© 37 (D)

10 cm =31 It T I T TH S{iGT, I % hg T HHRIU ARG Ll g | dl

Sfiam 1 d9 (cm ®) 2

(A) 52 (B)
5
c) = D
(©) NG (D)
T TS 28, 44, 132 H1 .. (LCM) B :
(A) 258 (B)
(C) 462 (D)

15-30/5/1
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12.

13.
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The length of an arc of a circle with radius 12 cm is 10m cm. The angle

subtended by the arc at the centre of the circle, is :
(A)  120° B) 6°
(C) 75° (D)  150°

The greatest number which divides 281 and 1249, leaving remainder 5
and 7 respectively, is :

A 23 (B) 276
(C) 138 (D) 69

The number of terms in the A.P. 3,6,9, 12, ..., 111 is:
(A) 36 (B) 40
(C) 37 (D) 30

A chord of a circle of radius 10 cm subtends a right angle at its centre.
The length of the chord (in cm) is :

(A) 542 (B) 1042
5

c) X D) 5

() 72 (D)

The LCM of three numbers 28, 44, 132 is :
(A) 258 B) 231
(C) 462 (D) 924

15-30/5/1 P.T.O.
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14. 3R 3 TE-THST &3 HI TSRS 553 7, dl 3Tl 7.9, (HCF)® :

A 1 (B) 553
c 7 D) 79
15. 9 o qAT B FGIE p(x) = kx? — 30x + 45k o IFH & a4 o+ B = af g, Al k
HAE T
2 3
(A) ~3 (B) -3
3 2
(C) ) (D) 3

16. & T 3Mhfd H, RJ AT RL, 990 W @i 75 g Tei@rd 8 | Afg £ RIL = 42°
8, A L JOLHI WO 3 :

(A)  42° (B) 84°
C) 96° (D) 138°

17. ¢ 75 3T H, A ABCH, DE || BC 2 | 9 AD = 2-4 cm, DB = 4 cm 1
AE=2cm&e, d AC I &« ? :

A
D E
B C
(A) ?cm (B) %cm
©) %cm D) 12em

15-30/5/1
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If the product of two co-prime numbers is 553, then their HCF is :
A 1 (B) 553
(&) D) 79

If o and P are the zeroes of the polynomial p(x) = kx2 — 30x + 45k and
o + B = af, then the value of k is :

2

(A) -3

3

B - 5
3 2
(®) 5 (D) 3

In the given figure, RJ and RL are two tangents to the circle. If
Z RJL = 42°, then the measure of £ JOL is:

(B) 84°
(D) 138°

In the given figure, in A ABC, DE || BC. If AD = 24 cm, DB = 4 cm and
AE = 2 cm, then the length of AC is :

A
D E
B C
(A) ? cm (B) % cm
(©) % em D 12em
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18. Ifg 7-5 m T TYT @I T YH W 5 m &l ST A1GT & AR & 999 Th
MR S S 6 A8 24 m 7, O HAR Hl S8 2 -

(A) 20m (B) 40m

(C) 60m (D) 36m

o7 G&IT 19 37K 20 37Fe7 Uq a% eia 397 8 | § F97 1€ 7T & 577 v %1
SHTUHYT (A) TIT G F1 T (R) FRT 371 137 77377 & | 57 J97] & T&l IR 419 157
77 B18T (A), (B), (C) 3% (D) 7 8 g7a¢ 5w |

(A) AR (A) 3R Th (R) GHI H&l & R @b (R), AR (A) i &
SITEAT T 2 |

(B) 3AfYHAT (A) 3R Toh (R) HT Tl &, Tg dob (R), 3 (A) hl T&l
TS 7gT HLdl 7 |

(C) AMHeH (A) T& 8, Wrg e (R) TeId & |

(D) AHeH (A) TeTd &, g @%b (R) T& 7 |

19. 37%97 (A): ABCD U @daie g [ DC || ABR | E @ F 8 AD a9l

5 AE BF
BCW UH fog 2 f6 EF || ABR | I = = 3¢

T (R) : fordt Tuee 6 TuT YISl % THIAL hI @1 SFHHMEE Yo
%I FETIIT § et 7 |

20. SYHYT(A): I §gIG ! =TT GRATNG &I B |
7% (R) : T AT T FGUG i AT 0 B 7 |

15-30/5/1 Page 10
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18. If a vertical pole of length 7-5 m casts a shadow 5 m long on the ground
and at the same time, a tower casts a shadow 24 m long, then the height

of the tower is :
(A) 20m (B) 40 m
(C) 60m (D) 36m

Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : ABCD is a trapezium with DC || AB. E and F are points

on AD and BC respectively, such that EF || AB. Then

AE _ BF
ED FC’
Reason (R): Any line parallel to parallel sides of a trapezium divides

the non-parallel sides proportionally.

20. Assertion (A) : Degree of a zero polynomial is not defined.

Reason (R): Degree of a non-zero constant polynomial is 0.

15-30/5/1 Page 11 P.T.O.
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57 GUE T 37lq TY-IRI% (VSA) FHR & J97 &, o7 Jo3ieh & 2 37 & | 5x2=10

21.

22,

23.

24.

25.

(a) AR 3 cm B I T g0 W G T8 q THRIIWIT TER 60° oh HhI0 T
bl 8, I Tcdeh TINIGT Shi TS AT hITIT, |

AT

(b) Tag HivT fof g & forell =8 & A0 W @iEl T8 TR@0 TR
HTER B & |

WWW:

2 tan 30°. sec 60°. tan 45°
1 - sin? 60°

IS o, f TGIG p(x) = 5x2 — 6x + 1% I&H &, Al o + B + af H TH [
HIT |

(a) 98 39 Fa it rEw g P(— 4, 6), f5gati A(- 6, 10) a1 B(3, - 8)
%! e ot tT@ravs &t fawfsra sar 2 |

AT

b) Tag R 6 fog (3, 0), (6, 4) T2 (- 1, 3) T wmfgarg Bryst & =M
g |

T fess # 60 HHIS 7, 0 48 31=81 SISt &, @ich 8 H Yg@ g & a1 4 H

B AW 7 | i, T wul, Shad =S FHiS & TR hidT 7, Si€ih Uk

THU TR 3T, had Iwal HHIST I STEAHR Ll 3 N6 9@ q9 3l |

fesa § & wIgeaa U HHS Tehrell T8 | WTRehal W@ hitie foh fepedt T8

HHIS A i THR 2 |

15-30/5/1 Page 12



[OpH O
e

SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

21. (a) If two tangents inclined at an angle of 60° are drawn to a circle of

radius 3 cm, then find the length of each tangent.
OR

(b)  Prove that the tangents drawn at the ends of a diameter of a circle
are parallel.

22. Evaluate:

2 tan 30°. sec 60°. tan 45°
1 —sin? 60°

23. Ifoa, B are zeroes of the polynomial p(x) = 5x2 — 6x + 1, then find the value

of a + B + af.

24, (a) Find the ratio in which the point P(— 4, 6) divides the line segment
joining the points A(— 6, 10) and B(3, — 8).
OR
(b)  Prove that the points (3, 0), (6, 4) and (- 1, 3) are the vertices of an

isosceles triangle.

25. A carton consists of 60 shirts of which 48 are good, 8 have major defects
and 4 have minor defects. Nigam, a trader, will accept the shirts which
are good but Anmol, another trader, will only reject the shirts which have
major defects. One shirt is drawn at random from the carton. Find the

probability that it is acceptable to Anmol.

15-30/5/1 Page 13 P.T.O.
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Que 1

5T GUE 7 TY-FTIT (SA) FHR & T97 &, 574 Jcde & 3 37% & [ 6x3=18

26.

27.

28.

29.

30.

31.

(a) fag v 5 V3 o suimy g 2 |
ST

(b) fag T 6 (V2 + VB wh amafe s 2, fen 1 & 6 V6w
ST T 2 |

(a) Ifc Tk GO A & YA 14 Y2l 1 AMHA 1050 & IAT THHT YUYH UE
10 8, d1 39 FHT ST ST 2041 U G ndl Ue Id shitolT |
aroraT

(b) TUeh GHIR UG h1 JUH U2 5, 3(qH U 45 94T T Ig1 ol JTHa 400
2 | 39 AT A o UQl <h! AT aAT U1 3Tl JTd <hIFTY |

g ST foh T I o T THTGK g4 T H9=gys 8T 3 |

forg shifor &6

tan A cot A

+ =1 + sec A cosec A
1-—cot A 1-tan A

o Foaer foeeh s 919 39l U | fAEfaiad o gt e hl ITRieRdT 3Td
%ﬁﬁl@ :

(i)  HH-U-HH U fqd

(11) HMHA Uk UL

(iii) < Fod 9o Tk U

10 cm 551 Tt 99 K1 Tk AT I o ohg W HHHIV AT B | A WG qH
FIST@us &1 &F%a A ST | (1 = 3-14 AN HifT0)

15-30/5/1 Page 14
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SECTION C

This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18

26. (a) Prove that +/3 is an irrational number.

OR

2
(b)  Prove that (\/5 +43 ) is an irrational number, given that /6 is

an irrational number.

27. (a) If the sum of the first 14 terms of an A.P. is 1050 and the first term
is 10, then find the 20t? term and the nt? term.

OR

(b)  The first term of an A.P. is 5, the last term is 45 and the sum of all
the terms is 400. Find the number of terms and the common
difference of the A.P.

28. Prove that the parallelogram circumscribing a circle is a rhombus.

29. Prove that:
tan A cot A

+ =1 + sec A cosec A
1-—cot A 1-tan A

30. Three unbiased coins are tossed simultaneously. Find the probability of
getting :
1) at least one head.
(i1)  exactly one tail.

(1i1) two heads and one tail.

31. An arc of a circle of radius 10 cm subtends a right angle at the centre of
the circle. Find the area of the corresponding major sector. (Use m = 3:14)

15-30/5/1 Page 15 P.T.O.
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39 GV H H-3TIT (LA) YR & I97 &, 978 Jedsb & 5 37% & / 4x5=20

82. (a) ‘K’ 9% A M hitoC oifeh fore fgama weienton
(k+1x2 -6k + D)x+3(k + 9) =0,k #— 1 aT&dideh IR F0H A & |

AT

(b) e SAfh h! MY Y 9 hI Y & T hl G 2 | 1S I WA, 36
fth hl A 39 9 hT Y o dF A F 4 a9 ek gl | ITH
JAIM A 1 I |

33. U& 74 % A % U fog ¥, A1 & @ FRANI o 0T IV HAN: 30° TR
60°% | I gat, fohamli & 4 m 1 ST W JY, @t T8 I ISR A1a I |

34. (a) @ TE AHGH, AFECzAGDBTN £L1=2,2%8 | fag fifsu f&
A ADE ~ A ABC.

(b) TH AABC I Y AB IR AC TT HITEIHRT AD HHM: Th I B
A PQR 1 gSTI3Ti PQ 3R PR T AIfedehl PM @ TUTU & | GINsy
f% A ABC ~ A PQR.

15-30/5/1 Page 16
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SECTION D

This section comprises Long Answer (LA) type questions of 5 marks each. 4x5=20

32. (a) Find the value of ‘K’ for which the quadratic equation
(k + 1)x2 - 6(k + 1)x + 3(k + 9) = 0, k # — 1 has real and equal roots.

OR

(b)  The age of a man is twice the square of the age of his son. Eight
years hence, the age of the man will be 4 years more than three

times the age of his son. Find their present ages.

33. From a point on a bridge across the river, the angles of depressions of the
banks on opposite sides of the river are 30° and 60° respectively. If the
bridge is at a height of 4 m from the banks, find the width of the river.

34. (a) In the given figure, AFECzAGDBand £1=/2.
Prove that A ADE ~ A ABC.

OR

(b) Sides AB and AC and median AD of a A ABC are respectively
proportional to sides PQ and PR and median PM of another A PQR.
Show that A ABC ~ A PQR.

15-30/5/1 Page 17 P.T.O.



35. wHL % UH W AeF F TeIE R W b Sien @ig P g, o
&G S8 TS 8, wE1 Tob TRl W fewmn R | AfE 9 i 918 5-8 em B
3R 38k SMYUR I B 2:1 cm 8, @ 39 a¥q 1 90 TS &% F1d

i |
@
~_
@UE T
39 GG § 3 YU 779 STETRT F97 & 1777 Icdeb & 4 3% & | Ix4=12

TERIUT LTI — 1
36. THA dcs YNd & HaY §g TIRSH UThl § & Tk 8 I Al 39 o AT
foTT U=k Fal, ST ARV SR HRSH faehedl i T fafag s@an weH
HA B | IB Uk AU gfafsesq “aiex fhen” & fow S Sar 2, S o=@
ITTETER BT 3R TS o T Toh SRR Tqed &A1l & | 9Teh ol {ohe I[oh
T 150 Ifq s=a1 a1 T 250 U I 7 |

T &, ek o @S A 98 9 b 300 feshe forehl @ oM T 55,000 T 5T 2 |
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35. A wooden article was made by scooping out a hemisphere from each end
of a solid cylinder, as shown in the figure. If the height of the cylinder is
5-8 cm and its base is of radius 2-1 cm, find the total surface area of the

article.
Y
\_/
SECTION E
This section comprises 3 case study based questions of 4 marks each. 3Ix4=12

Case Study -1
36. Essel World is one of India’s largest amusement parks that offers a
diverse range of thrilling rides, water attractions and entertainment
options for visitors of all ages. The park is known for its iconic “Water
Kingdom” section, making it a popular destination for family outings and
fun-filled adventure. The ticket charges for the park are ¥ 150 per child
and ¥ 250 per adult.

1
i

—

On a day, the cashier of the park found that 300 tickets were sold and an
amount of T 55,000 was collected.

15-30/5/1 Page 19 P.T.O.
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ST & YR W, FeAfIigd I9i & W N
1) Al 3\ 7 AW = h WA x AAT FILHT hl T y 7, dl & T

feufa =1 sfiemfurdie w9 7 fafge |
(i) (a) 39 HARSH 9Tk § 39 feq forad o= 311U 2
YT

(b) 39 FARSH UTeh H 39 faT fordd e a7mu 2
(iii) AR 9k | I 250 o= qAT 100 TI&h W, qt Tehat TRT Towa BIAT 2

ThIT AT - 2

37. U i< Ush o o TR 1 @ | HIcl 4 i<l 1 €A1 T TH-GH 1 m H
gl T 3 < U % UIY IMY | g = i AT 5 qrel § HSAE1 =18 2 |
3T A % Y ITE o AT S o Tt Th BIYeeR & g1 | 30T
feurfa o, Oreft 3 et 10 % 91 6 7ee off e 1 TR &1 =1 s e |

B OO OO OOV ¥C

L X X & X X X X 4
[—
L dol X & N & N N N N SN

VAUV OO OO O O OV
3T o MUR W, Frefafaa yei & 3w G
(i) A qo-fag TR, A PQR o Ml o g w1 & ?

(i) (a) gl PQQYT QR FTd hIfT |
HAYAT

(b) Togall P Aol Rl A o1t {@r@Ue i 2 : 1 % 3F=d: fIHoH
T AT Toig o THeRITR F1d HIT |

(iti)  FTa I fF =1 A PQR T THfgag B ® |
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Based on the above, answer the following questions :

(1) If the number of children visited be x and the number of adults
visited be y, then write the given situation algebraically. 1
(i1) (a) How many children visited the amusement park that day ? 2
OR
(b) How many adults visited the amusement park that day ? 2
(iii) How much amount will be collected if 250 children and 100 adults
visit the amusement park ? 1

Case Study - 2

37. A garden is in the shape of a square. The gardener grew saplings of
Ashoka tree on the boundary of the garden at the distance of 1 m from
each other. He wants to decorate the garden with rose plants. He chose a
triangular region inside the garden to grow rose plants. In the above
situation, the gardener took help from the students of class 10. They
made a chart for it which looks like the given figure.

oBY YU OO OOV ¥Cy
v v
v v
v v
o L o
v ] v
v v
v v
e o
’ .
VAO OO OO OO OVE V¥
Based on the above, answer the following questions :
(1) If A is taken as origin, what are the coordinates of the vertices of
APQR? 1
(i1) (a) Find distances PQ and QR. 2
OR
(b)  Find the coordinates of the point which divides the line
segment joining points P and R in the ratio 2 : 1 internally. 2
(iii) Find out if A PQR is an isosceles triangle. 1
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g (AHUS H) | 0-20 | 20-40 | 40-60 | 6080 | 80— 100

ST hT T&T 8 10 13 6 3

3T % MR R, Ffafed yedt & 3w G
() W feu U TRt 1 HIEAS I AT B ?

(i) () < I HE | SAT R o= T 71T 99T 71 I |
HAAT
(b) W feu 7Y HTHSH 1 TgAH Fd HIC |

(iii) Torde ®ET 3 60 Terug ¥ A guF forT 2
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Case Study - 3

38. Activities like running or cycling reduce stress and the risk of mental
disorders like depression. Running helps build endurance. Children
develop stronger bones and muscles and are less prone to gain weight.
The physical education teacher of a school has decided to conduct an inter
school running tournament in his school premises. The time taken by a
group of students to run 100 m, was noted as follows :

—

FrY9932a7

Time

(in seconds)
Number of
students

0-20 | 20-40 | 40-60 | 60-80 | 80-100

8 10 13 6 3

Based on the above, answer the following questions :

(1) What is the median class of the above given data ?

(i1) (a) Find the mean time taken by the students to finish the race.
OR
(b)  Find the mode of the above given data.

(iii)) How many students took time less than 60 seconds ?

15-30/5/1 Page 23



